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Nove .

Simplify each polyrzomial.

4. 2x% — 8x? + 12x 5.
6.16x +3 — O9x + 2 7.
8.7 +8—-x—-10 9.
19. —5x + 16 + 10x2 + 3x 11.
12.62% + 3 — &% + 9x? 13.
14. 2x% — Tx + 2x¢% — 2x% + Bx 15.

Find each sum.

73;2+7x—1—12;£2
1£L‘c+9—5x—3x2
— 13— 2x — 16x — 7
—x% — 24 + 9x® + 14x
—5x% + Bx? —x2+ 5

—4x? + Ox® — 14x? — 6x3 — Ba*

1. (5x + 21) + (10x + 13) ' 2. (—9x + 12} + (—5x + 14)
8. (dx® — 6x) + (Zx + 10x%) ' 4, (11x% — 8x) + {7x% + 13x)
5.(3x2 — 18x + 27) + (9x + 21) 6. (22?2 — Tx) + (bx — 6x%)

7.(5x% — 2% — 9) + (—12x + 3) 8. (9% + Tx + 10) + (522 — 8x)

9. (—6x% — 5x — 1B) + (—x? — 14x — 10) 10. (8x% + 11x + 9) + (6x2 + 3x + 15)

Subtract.

11.(6x — 1) — (2% ~ 5) 12. (7% + 8) — (x + 9)

13.(x — 2) — (x — 9) | 14. (6x + 3) — (3% + 8)

15.G% + 2 — 8) — (4% — 10) - 166 Br— 1) = (“Tx—5) -

1.8 4+ 35+ 2) ~ (2 4 120 +5) 18,0 - dr—2) - @—9x—T) .



